Answiers for bay 3. 25t

—

March 2020° Achurly Wlaide mic ?
A)Een-g = (-1 | N T
- l’) _ C 5 RRP-5X2 =6p
2 3 An = =4
RO £y L and 8= & r—;} ﬁf [opP- o =6p—6
/
B 2 / 10p- 6 p0=6pLp=©6
&x (on-2)=5(r) | P==F
Z, Z W = 6 Hp-io =0 -6
axah - 3x = axh-9%9 4p-to = ~&
ch - —9h-\8 | - _
& =z=2h-\E8 @ M - ?P&) Hp-Iotio = &HD
choh_t- ghan-8 3 5 APTe = 4
A4h-6 =o-18 Lo oS ondszig | AP =4
Uh-6 =g Beo-)=mbrd) |4 4
Hh-tt5 = 18+6 5 gj _
A = 24 P =1 /




b42 = pby2
© 4
Lkemef Sandig=12

ok ( ‘?_ti) = \g@*@
z'i 4Fl

X o + A3 =axb +8+3

A4b +10 =3bt+ 6

b+H% o046
bH2-12= 6-19

4b-3b+a = gb3btf

b+o -6

b :_g/

[




	03242020-math 3
	03242020-math 4

